Skogs BK

Barometer Anmalana 2022-10-27

Partavling, 6 bord, 11 par. Antal brickor: 22. Medel: 88.0. Frirond (*) ger egen procent.

Plac Par  Poang % Namn MID Klubb
1 12 117.7 66.88  Bo Gullefors - Staffan Strindlund 36345 3486  Sollefted BK - Skogs BK
2 1 101.2 57.50  Ulf Eriksson - Nils-Erik Ostman 14071 12388  Skogs BK
3 5 96.8 55.00 Per-Arne Lindstrém - Lars Nordlinder 3485 24313  Skogs BK
4 4 95.7 54.38  Jerry Mahler - Ann Lidfors 12554 13773  Sollefted BK
4 11 95.7 54.38  Harry Lundin - Jarl Lofstrand 8275 37156  Skogs BK
6 3 86.9 49.38  Hans Olofsson - Asa Wallin 20860 84926  Skogs BK
7 9 82.5 46.88  Tommy Sj6lund - Tommy Norlin 63184 63227  Skogs BK - Docksta BTK
8 7 80.3 45.63  Seth Carlsson - Kjell Vestin 46439 49439  Skogs BK - Sollefted BK
9 2 77.0 43.75  Olle Andersson - Gunnar Stattin 26491 59173  Skogs BK
9 8 77.0 43.75  Torsten Victorin - Birgitta Edvall 57031 57030 Sollefted BK
11 10 57.2 32,50 Roland Eriksson - Jan-Uno Norlén 86772 65492  Skogs BK
1 4 Kn76 Basta kontrakt 2 4 DKn Basta kontrakt 3 4 KKn104 Basta kontrakt
Nord v 102 34 N =140 Ost v Kn105 2NT S =120 Syd vKn10 INT V =-2220
Ingen + K1064 NS + ED976 ov + DKn98
#10832 & ¢ v & NT #853 & ¢ v & NT #1085 & ¢ v & NT
D84 a K2 N9 6597 4EK8 47653 N9 86 88 aE762 43 NO9O070
v94 vKKn8765 S 9 6 5 9 7 v 98432 vD76 S 986 838 v 642 vYEKD9873 S 0 9 0 7 0
¢ EDKn852 ¢ 97 047845 410843 ¢ K5 044754 .7 ¢E O 134 136 13
»E6 «D97 V47845 +10 2KD42 V44754 #EKD43 #Kn962 V 134 136 13
« E10953 410942 « D985
vED3 vEK v5
+3 ¢ Kn2 + K1065432
#KKn54 #EKn976 *7
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
3 10 3NO-4 aA 200 8.0 0.0 3 10 2¢ S+1 &T 110 7.0 1.0 1 3 5v0+2 *7 -710 5.0 3.0
11 2 34 S+1 v4 170 6.0 2.0 9 4 3aS= A 110 7.0 1.0 4 11 5v O +2 *7 -710 5.0 3.0
9 4 3v0-1 +3 50 40 4.0 11 2 2¢ S= oA 90 3.0 5.0 8 7 5v0+2 *7 -710 5.0 3.0
12 1 44 S-1 v9 -50 2.0 6.0 12 1 INN= a5 90 3.0 5.0 12 2 4v O+3 *7 -710 5.0 3.0
8 5 3¢ N-2 +9 -100 0.0 8.0 8 5 3&4S-1 v9 -100 0.0 8.0 10 5 6v O+1 *7 -1460 0.0 8.0
7 - 3.7 7 - 3.7 9 - 3.8
4 4 K108 Basta kontrakt 5 4 E6 Basta kontrakt 6 ~KD8 Basta kontrakt
Vast vE10874 54 V =-650 Nord v DKn8 34 O =-140 Ost v 105 5¢v O =-650
Alla + Kn32 NS + EKn1032 ov ¢ 7532
#Kn6 & ¢ v & NT #K53 & ¢ v & NT #K432 & ¢ v & NT
« D97 & EKn643 N46 424 4 DKn98 4 K7432 N488 46 4 E97532 410 N36 233
v K93 v Kn62 S 46424 v K7 vE32 S 58846 v D82 v EK973 S36233
+8 ¢ EK75 097 9 119 + 865 +94 085497 +10 ¢ D96 O 106 111010
#ED9732 48 V.97 9 119 D962 #E107 V85497 «D95 #EKn76 V 105 11108
452 4105 & Kné4
vD5 v 109654 vKn64
+ D10964 + KD7 + EKKn84
#K1054 #Kn84 %108
Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
8 7 24 0+1 *T -140 8.0 0.0 9 8 2vN+1 +9 140 7.0 1.0 9 8 3¢S-1 a A -50 8.0 0.0
12 2 3NV= v7 -600 6.0 2.0 12 3 2v N+1 +9 140 7.0 1.0 12 3 3vO= ¢ A -140 6.0 2.0
4 11 44 O= vQ -620 4.0 4.0 10 7 2vN= +9 110 40 4.0 10 7 5¢ S-3 s A -150 4.0 4.0
1 3 44 0+1 +6 -650 1.0 7.0 2 4 240+1 +K -140 10 7.0 5 1 3v0O+3 +K -230 2.0 6.0
10 5 44 0+1 vQ -650 1.0 7.0 5 1 340= vT -140 10 7.0 2 4 4v O+2 ¢ A -680 0.0 8.0
9 - 3.8 11 - 4.4 1 - 4.4
7 4 D83 Basta kontrakt 8 4 K76 Basta kontrakt 9 4 KD103 Basta kontrakt
Syd vD53 3v V =-140 Vast v Kn10875 5¢v N =450 Nord v 10852 4v N =420
Alla ¢+ E2 Ingen + Kn ov + E52
#EDKnN98 & ¢ v & NT #DKn62 & ¢ v & NT »K6 & ¢ v & NT
4EK74 452 N4 3 454 4Kn852 D104 N 7 5 117 10 | #EKn97654 482 N9 9 107 9
vEK109 vKn7 S 43454 v3 vD S 7 5 117 10| vD9 v Kn64 S99 107 9
¢ KD63 ¢ Kn97 09 99 838 ¢E962 ¢108754 06 7 253 + Kn8 ¢+ K1064 034364
*6 #K107543 V 9 9 9 8 8 #EK83 410954 V67253 «Kn9 #E753 V34363
& Kn1096 4 E93 a-
v 8642 v EK9642 v EK73
+ 10854 + KD3 + D973
*2 *7 #D10842
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
12 4 INO+2 ] -150 8.0 0.0 1 7 4v S+1 &A 450 5.0 3.0 12 5 4v N+1 48 450 8.0 0.0
10 9 3vV+1 ¢ A -170 6.0 2.0 10 9 4v S+1 A 450 5.0 3.0 11 10 34 V-3 vT 300 6.0 2.0
11 8 2vS-3 oK -300 4.0 4.0 11 8 5v N= +5 450 5.0 3.0 1 9 24V-2 K 200 40 4.0
1 7 2¢S-5 *6 -500 2.0 6.0 12 4 4v S+1 A 450 5.0 3.0 2 8 4vyN-2 48 -100 1.0 7.0
3 5 24DS-3 vA -800 0.0 8.0 3 5 2vS+4 «K 230 0.0 8.0 7 3 4vyN-2 48 -100 1.0 7.0
- 2 35 - 2 35 4 - 4.4
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10 4 Kn5 Basta kontrakt 11 4 ED987 Basta kontrakt 12 4 ED9642 Basta kontrakt
Ost vKn 6v S D-2-500 Syd v K863 5NTV =-460 Vast v D5 4ANT N =630
Alla + ED62 Ingen + Kn92 NS + D742
#D108753 & ¢ v & NT *7 & ¢ v & NT 3 & ¢ v & NT
4982 & EK7643 N 4 4 102 4 & K6 & Kn N2 2382 & KKn7 48 N 7 8 8 1010
v1087 v- S 4 3 101 4 v974 v ED52 S22382 v K43 v EKn62 S 7 8 8 1010
+Kn98 ¢ K1043 09 9 3 113 ¢ K1043 ¢ ED85 O 1111105 8 + K108 4 9653 045513
#E942 #KKn6 vV 9 9 3 103 #ED96 410832 VvV 1111105 11 #Kn1065 #8742 V65513
«D10 # 105432 #1053
v EKD965432 vKnl0 v 10987
+75 +76 ¢ EKn
»- #KKn54 #EKD9
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
2 8 4v S= 49 620 8.0 0.0 8 4 34DN= *2 530 8.0 0.0 3 9 44 N+2 8 680 8.0 0.0
1 9 5vS-1 &K -100 5.0 3.0 2 10 24 N+1 &T 140 6.0 2.0 5 7 44 N+1 8 650 6.0 2.0
7 3 5vS-1 *A -100 5.0 3.0 1 11 5#V-1 s A 50 40 4.0 8 4 24 N+2 »8 170 40 4.0
11 10 34 O= vA -140 2.0 6.0 3 9 34N-2 »8 -100 2.0 6.0 1 11 4a N-1 vA -100 1.0 7.0
12 5 44DO+1 ©vA -990 0.0 8.0 5 7 44 N-3 »2 -150 0.0 8.0 2 10 44 N-1 vA -100 1.0 7.0
4 - 4.4 12 - 5.4 12 - 5.4
13 4 K84 Basta kontrakt 14 482 Basta kontrakt 15 & E9832 Basta kontrakt
Nord v K5 4v O =-620 Ost v D872 44 S =420 Syd v DKn4 4¢ V =-130
Alla ¢ E652 Ingen + D1087 NS 494
#Kn1095 & ¢ v & NT #EK2 & ¢ v & NT *K74 & ¢ v & NT
& Kn52 « ED109 N6 6 335 4 E5 «D3 N8 7 7 108 & K 4 Kn76 N6 3497
vDKn10732 v94 S66 335 vEKKn95 v643 S8 7 7 108 v10983 vEK2 S6 3487
+10 ¢ K873 O7 6 108 7 ¢+ Kn64 ¢ K953 O56 6 33 410873 ¢ KKn652 O 7 108 4 5
#ED4 *762 vV 7 6 108 7 #Kn96 #10873 V556 33 #DKn93 #E10 V 7 108 4 5
4763  KKn109764 4 D1054
v E86 v10 v 765
+ DKn94 ¢ E2 +ED
»K83 #D54 #8652
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
4 10 2v V= LN -110 8.0 0.0 4 10 44 S+1 v6 450 7.0 1.0 4 1 34N= vA 140 7.0 1.0
2 1 14 0+3 3 -170 5.0 3.0 12 7 44 S+1 vA 450 7.0 1.0 7 9 34 N-= A 140 7.0 1.0
9 5 2vV+2 LN, -170 5.0 3.0 3 11 44 S= vA 420 3.0 5.0 12 8 5¢DO-1 #4 100 40 4.0
12 7 3¢ N-3 v9 -300 2.0 6.0 9 5 44 S= vK 420 3.0 5.0 3 2 2NO-1 LY 50 2.0 6.0
3 11 INS-5 vT -500 0.0 8.0 2 1 34S-= vA 140 0.0 8.0 5 11 34 O= a5 -110 0.0 8.0
- 8 35 - 8 35 10 - 2.6
16 483 Bésta kontrakt 17 & K1087652 Bésta kontrakt 18 & KDKn2 Bésta kontrakt
Vast vKD10765 3v ND-1-100 Nord v K64 54 N =450 Ost v 106 4v S =620
oV +85 Ingen +10 NS + K5
#1075 & ¢ v & NT *97 & ¢ v & NT #EKDKnN8 & ¢ v & NT
4DKn4  4K1065 N46 844 aD « E94 N 114 11116 4983 4 E1076 N 116 109 8
v 82 vE93 S 46844 v 1053 v 97 S 114 11116 v DKn2 v 743 S 116 109 8
+ D106 ¢ E32 097587 ¢ EDKNn763 ¢ K98542 029126 ¢ ED9862 ¢ Kn4 026 333
#Kn9642 #ED3 V87577 #D65 £104 V2912€6 *6 #9742 V26333
4 E972 4 Kn3 454
vKn4 v EDKn82 v EK985
+ KKn974 .- + 1073
»K8 #EKKn832 #1053
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
3 2 2v N+2 ¢A 170 8.0 0.0 8 10 44 N+1 v9 450 6.0 2.0 4 3 3NN+1 +J 630 6.0 2.0
12 8 3v N= ¢A 140 6.0 2.0 11 7 44 N+1 &T 450 6.0 2.0 5 2 3NN+1 *7 630 6.0 2.0
5 11 2¢v N= a5 110 40 4.0 12 9 54 N= 2 450 6.0 2.0 12 9 3NN+1 ¢J 630 6.0 2.0
7 9 2NO= +4 -120 2.0 6.0 5 2 44 N= v7 420 20 6.0 8 10 4v S= *6 620 20 6.0
4 1 3NO= vJ] -600 0.0 8.0 4 3 64S-1 *A -50 0.0 8.0 11 7 3« N+1 *J 130 0.0 8.0
10 - 2.6 -1 4.6 -1 4.6
19 & KD2 Bésta kontrakt 20 «ED Bésta kontrakt 21 49 Bésta kontrakt
Syd v Kn108 3&V =-110 Vast v KKn10763 INT N =2220 Nord v K1075 54 O =-450
oV + Kn1065 Alla + DKn9 NS +108
#KKn5 & ¢ v & NT #EKn & ¢ v & NT #K109873 & ¢ v & NT
47654 4 EKn8 N456 46 2 KKn8643 49 N 9 13139 13 | «EKDKnl106 482 N65111
v6 vE7543 S456 46 vD9 v 854 S 9 13139 13 | vE93 v Kn8642 S65111
¢+K987 +D4 088787 + 1076 ¢ 543 040040 *7 ¢+ ED54 O7 7 111110
#E1097 #D42 V98787 *87 #K109532 VvV 4 0 0 4 0 »642 *EKn vV 7 7 101110
#1093 10752 #7543
v KD92 vE2 vD
¢ E32 + EK82 + KKn9632
#863 +D64 #D5
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
12 10 2¢DO-2 ¢A 500 8.0 0.0 1 8 4v N+3 49 710 6.0 2.0 8 3 5v0-2 a7 100 7.0 1.0
9 11 3+V-1 *J 100 6.0 2.0 7 2 4v N+3 49 710 6.0 2.0 12 11 4v O -2 a7 100 7.0 1.0
5 4 INS-1 »7 -50 4.0 4.0 12 10 4v N+3 ¢+5 710 6.0 2.0 2 9 4e V+1 *T -450 4.0 4.0
1 8 lavVv= +J -80 2.0 6.0 9 11 3NS+3 43 690 2.0 6.0 10 1 4v O+2 &5 -480 2.0 6.0
7 2 INV= +5 -90 0.0 8.0 5 4 4v N+1 3 650 0.0 8.0 7 4 3NO+3 +9 -490 0.0 8.0
- 3 4.0 - 3 4.0 - 5 4.4

Skogs BK, Barometer Anmélana 2022-10-27, sida 2 av 3




22 4 KD5 Basta kontrakt
Ost v Kn1053 3NT S =400
ov + ED2
&E107 & ¢ v & NT
& Kn3 497 N56 6 99
v K6 v ED987 S566 909
4108753 ¢ KKn 0877 4 4
#8642 &#KKn95 V877 44
4 E108642
v42
¢ 964
D3
Par Kontr Ut Res Poang
2 9 24 N+2 a7 170 8.0 0.0
7 4 24 N= vA 110 5.0 3.0
12 11 24 S= vK 110 50 3.0
8 3 3v¥N-3 a9 -150 1.0 7.0
10 1 44 S-3 vK -150 1.0 7.0
- 5 4.4
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